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1.1.1.1.    Choose the correct answer for the given questions.Choose the correct answer for the given questions.Choose the correct answer for the given questions.Choose the correct answer for the given questions.                

                    

1.11.11.11.1    Identify the given shape.   

                             
    A.A.A.A.    HexagonHexagonHexagonHexagon            

 

1.21.21.21.2    Round 25 135 off the nearest 100.  

 

    B.B.B.B.    22225555 1 1 1 100000000    
    

1.31.31.31.3    What is the value of the underlined digit in 48 879? 

    

    B.B.B.B.    8 0008 0008 0008 000    

 

1.41.41.41.4    Find the forth multiple of 15. 

    
    C.C.C.C.    60606060    

    

1.51.51.51.5    In which unit will flour be measured? 

 

 B.B.B.B.    kgkgkgkg        

 
1.61.61.61.6 Fill in the missing number:      125; 175; 225; ______; 325 

 

 B.B.B.B.    275275275275                

 

1.71.71.71.7    What is the following number? 

 (3  10) + (2  1 000) + 7 + (5  100) = _____ 

 

 A.   2 537A.   2 537A.   2 537A.   2 537                                        

    

1.81.81.81.8 The distance between Cape Town and Durban is measured in…. 

  

 C.C.C.C.    kilometrekilometrekilometrekilometre        [[[[8888]]]]    
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2222    45 874 rounded to the nearest 5: 45 87545 87545 87545 875   (1)(1)(1)(1) 

     

3.3.3.3. Write 23 508 in the expanded notation. 

 

 (2 (2 (2 (2  10 000) +  10 000) +  10 000) +  10 000) + (3(3(3(3     1000) + (5  100) + 8 1000) + (5  100) + 8 1000) + (5  100) + 8 1000) + (5  100) + 8   ((((1)1)1)1) 

      

4.4.4.4.    Use <, > or = to make the statement true. 

 

  
5

3
 <<<< 

3

2
                                (1)(1)(1)(1) 

        

5.5.5.5.    Which factor of 12 is missing in the list 1, 2, 3, 6, 12?       

          4444          (1)(1)(1)(1)    
                                

6666....    Write the following sentence as a number sentence.Write the following sentence as a number sentence.Write the following sentence as a number sentence.Write the following sentence as a number sentence.    

    

    The product between ten and thirteen is five less than 135.  

           

    10 10 10 10     13 = 135 13 = 135 13 = 135 13 = 135 ---- 5 5 5 5                            (1)(1)(1)(1)    

    

7777....    Marbles are arranged in groups of five. Complete the given 

 table. 

 

GroupGroupGroupGroup    1 2 3 7 10101010    

    Number of Number of Number of Number of 
marbles in a groupmarbles in a groupmarbles in a groupmarbles in a group    

5 10101010    15151515    35353535    50 

           (2)(2)(2)(2)    
    

8888....    Complete the following Complete the following Complete the following Complete the following flow diagramflow diagramflow diagramflow diagram    

                                                                        
                                            (3)(3)(3)(3) 

                

9999....    Calculate the following:Calculate the following:Calculate the following:Calculate the following:    

9.19.19.19.1    68 145 68 145 68 145 68 145 –––– 12 599 12 599 12 599 12 599    
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                                        (3)(3)(3)(3)    

9.29.29.29.2    985 985 985 985  35  35  35  35     

                                                                        
    

                                            (3)(3)(3)(3)    

9.39.39.39.3    846 ÷ 5846 ÷ 5846 ÷ 5846 ÷ 5    

        

                                                                                            
        (3)(3)(3)(3)    
    

9.39.39.39.3    
3

1
5

3

2
3 +     

    
                                    

                                

                                

                                            (2)(2)(2)(2)    

    

    

    
    

    

    

9.49.49.49.4    
7

2
5

7

3
7 −     
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                                            (2)(2)(2)(2)    

10.10.10.10.    Write down the next two numbers in the pattern: 

 
 1; 2; 1; 4; 1; 6; 1111; 8888       (2)(2)(2)(2)    

                            

11.11.11.11.    John works 6 hours per day and gets paid R45 per hour. 

 How much will he get if he works for five day? 

 

                             
           ((((4)4)4)4)    

    

11112222....    In a National Park, there are 654 elephants and 236 zebras. 

 Estimate, by rounding off to the nearest ten, how many 

 elephants and zebras are in the Park. 

 

                        
           (2)(2)(2)(2)    

11113333....    Name the given shapes.Name the given shapes.Name the given shapes.Name the given shapes.    

    

11113333.1.1.1.1                    13131313.2.2.2.2        

    
    

    

    

        Square    Square    Square    Square                                Pentagon        Pentagon        Pentagon        Pentagon    
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                                            ((((2222)))) 

11114444....    Complete the table.Complete the table.Complete the table.Complete the table.    

    

OBJECTOBJECTOBJECTOBJECT    NAME OF OBJECTNAME OF OBJECTNAME OF OBJECTNAME OF OBJECT    SHAPES OF SHAPES OF SHAPES OF SHAPES OF 
THE FACESTHE FACESTHE FACESTHE FACES    

NUMBER OF NUMBER OF NUMBER OF NUMBER OF 
FACESFACESFACESFACES    

    

 

    

    

Rectangular prismRectangular prismRectangular prismRectangular prism    

    

Rectangles Rectangles Rectangles Rectangles orororor    

squaressquaressquaressquares    

    

6666    

                                            ((((4444))))    
11115555....    Read the time on the clockRead the time on the clockRead the time on the clockRead the time on the clock if it is still morning if it is still morning if it is still morning if it is still morning....    

                                                                                                                                                    

                                                            

    

    

    
    

    

    

                                        Half past Half past Half past Half past 5555                        (2)(2)(2)(2)    

    

11116666....    A train leaves station A at 08h45 and arrives at station B at 

 10h55. How long was the journey?  
  

                                        
                                            (2)(2)(2)(2)    

11117777....    Complete:     

11117777.1.1.1.1 1 450 m = 1111 km 450450450450 m              ((((1111))))    

11117777.2.2.2.2    1 256 kg = 1111 kg 256256256256 g        (1)(1)(1)(1)  

11117777.3.3.3.3    22 356 cm = 223223223223 m 56565656 cm       (1)(1)(1)(1) 
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11118888....    Weather Chart:Weather Chart:Weather Chart:Weather Chart:    

    

TOWNTOWNTOWNTOWN    MONDAYMONDAYMONDAYMONDAY    TUESDAYTUESDAYTUESDAYTUESDAY    WEDNESDAYWEDNESDAYWEDNESDAYWEDNESDAY    

Durban 22°C – 28°C 21°C – 27°C 19°C – 25°C 

Cape Town 16°C – 18°C 20°C – 21°C 19°C – 23°C 

Johannesburg 11°C – 28°C 13°C – 27°C 15°C – 28°C 

    

    

11118888.1.1.1.1    What was the maximum temperature for Durban on Tuesday? 

 
 27°C27°C27°C27°C             (1)(1)(1)(1)    

    

11118888.2.2.2.2    Which town had the lowest temperatures in the morning? 

 

    JohannesburgJohannesburgJohannesburgJohannesburg                                (1)(1)(1)(1)    

    
11118888.3.3.3.3    For which town was the difference between the lowest and the 

 highest temperature 6°C?     

 DurbanDurbanDurbanDurban         (1)(1)(1)(1)    

    

11119999....    Use the picture graph to answer the given questions.Use the picture graph to answer the given questions.Use the picture graph to answer the given questions.Use the picture graph to answer the given questions.    

     
    

11119999....1111    How many Impala are on the game farm?   50505050 (1(1(1(1))))    

 

11119999.2.2.2.2    How many more Zebra are on the farm than Giraffe? 
 

 20 20 20 20 –––– 10 = 10 10 = 10 10 = 10 10 = 10        (2)(2)(2)(2)    
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11119999.3.3.3.3    If the farmer sold 25% of the elephants, how many elephants  

 will still be on the farm? 

 30303030          (2)(2)(2)(2) 
    

                                

                                                    TOTAL: 6TOTAL: 6TOTAL: 6TOTAL: 60000 

 

 


